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Answerall questiongo four (4) decimalplaces(exceptwherethis is an
ohviously insanerequest).

One mark questions

. Doesz = 5 satisfy3z + 7 > x2?

2. Doz = 6 andy = 9 satisfy3x — 2y = 36?

. Rationalizethe denominatoof

. Calculate:
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Two mark questions

. Combineandsimplify:
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(b) (dz—1)7° ©

(d) (7Tz% — 92° + 22 — 11) + (3 + 1723 + 422)
(e) (12z — 18) — (22 + 20) (M (322)(4x® — 2z + 1)
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. Combineandsimplify:
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7. Sketchthegraphofy = 4z — 5
8. Whatis theslopeof theline through(3, 5) and(8, 20)?
9. Whatis theslopeof theliney = —7z + 13?
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Find the equatiorof theline though(4, 0) and(6, —2).

Quickly sketchthegraphsof  + y = 5 and3z — y = 7. Wheredo they
cross?

Solve for z andy:

3x  +

T —

2y = 26
1y = 4
Shadyenjoys soccerand his teamis pretty good—Ilastseasorthey won 7
moregameshanthey lost. Therewereatotal of 23 gamesnonewereties.

How mary gamedid histeamwin?

Bobis acomputerfreakandendsupwith alot of disksof “important” stuf.
In fact,hehas39 of thesmallfloppiesand26 of thelargefloppies.Find the
ratio of smallto large floppies.

Theformulafor theareaof anellipseis wab.
If thea is 12 cmandtheb is 10 cm, find the
areaof theellipse.

Three mark questions

Combineandsimplify:
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Divide: M
3x
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Divide by long division: i

2 — 4

10. Whatis theslopeof thisline? Yy 21. Factorasmuchaspossible:
(@ 12z% — 1922 + 13 (b) 323 — 3z
6
(¢) 72 +8x+1 (d) zy — 4z + 5y — 20
22. Solefor z:
2 - (@) 6z —22=2(x+5) b s5-—(z+2)=12—2
© 22—92+18=0 (d) 24+ —— =6 (€) a2 —4dx+1=0
-3 3 r—3
11. Whatis theequationof theline through(2, 4) with slope6? () 22 =8z +3 @) z(z—3)=2%-9
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